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C. S. (MAIN) EXAM, 2009 

Sl. No. 186 I C-DTN-J- liB I 
MANAGEl\fENT 

Paper II 

J Tznte Allo-..ved : Three Hours II Maxitnunz Marks : 3oof 

INSTRUCTIONS 

Each question is printed both in llindi and 
in English. · 

Answers must be ·written in the nzedium 
specified in the Adnzission Certificate issued 
to you. wlticlt 11UlSI be stated clearly on the 
cover of · tlze anslver-book in the space 
provided for the purpose. No nzarks will be 
given for the answers ·wrillen in a rnediunz 
other titan that specified in rite Adn1ission 
Certificate. 

Candidates should atten1pt Question Nos. 1 
and 5 which are co"zpulsory. and any three 
of the re1nainbzg questions selecting at least 
o11e question from each Section. " 

All questions carry equal 1narks. 

Assurne suitable data if considered necessary 
and indicate the same cleo rly. 
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I 

Section 'A' 

1. Attetnpt any three of the follo\ving questions : 
20x3=60 

(a) A regimen conststJng of a daily dose of 
vitamin C was tested to determine its effective-

· ness in preventing the comn1on cold. Ten 
. people who were following the prescribed 
regimen were observed for a period of one 
year. Eight survived the winter without a cold. 
Suppose the probability of surviving the winter 
without cold is 0·5 when vitamin C regimen is 
not followed. What is .the probability of 
observing eight or more survivors, given that 
the regimen is ineffective tn increasing 
resistance to colds ? 

(b) Discuss the managerial utility of the sensitivity 
analysis in linear programming. 

(c) Assuming a linear regression model of the type 
Y; = a + bX; + U;. i = 1. 2 ..... 29 
the following data have been collected 

..., , , ~ 6 LX;= 100. LXi Y; = 72., LJX; = 2 10, 

L:li = 1740 

where x; and Y; are deviations of X; and Y; 

from their respective sample means X and Y. 
What is the least square estimate of a and b ? 
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t . MkikiRcta ~ ~ fCt;~· ~ !ntit ~ ~·tR cftM~ : 
20x3=60 

(Cil) ~ ~ChJJi ?t PfqJ(Ot ~ ~ "ChT Ptaf<ot 

Cfl(~ ~ ~' f4cl M'1 'ffi' ctiT ~ aPiCfl ~(ICfi ~ 
~ q uu q 24 CfiT q (l ~ o I fch~ I lfliT I ~ ern- <1l• j)' 
CflT m ~ q241q24 "ChT 31'jti<Oa q;( wiT,~ 
Cflf ~ 3fCffu CfCi 9-~ Ml~ I lfliT I \3'1 ~- ~ 3fTO q,l­

trcff ~ ;fl~ ~ ~ ~Cfll Ji 9f@ S3IT 1 lfR ~n flt ~ ~ ~ 
f4c.lfil~ 'm' ~ q241q~ "ChT 3t9Jifi<Ot .., fctl~r ~ 

~ ~' (f<Sf ~ ~ l{l~~ ~ '1Cfll~ ir ~ ~ cfiT 
91f4CflC11 0·5 ~ ~ I 3ITO liT 3iMCfl '1Cfil~ ~ q;) 

~tC{~ eft~ CflTT 91f4Cfldl ~t ~ '1Cfll&ff ~ 9'fcr 
gfct<.1u ~ ~ ~ ~ qu;uq;zq ~ ~? 

{tcr) tfi.9Cfl Y't!IIJ04'1 ~ e4~'1· mi4~o~ eft ~ 
'3 q 41 fTI C11 lR. :q-qf chl M ~ I • 

( ll) 9Cfll( Y; =a+ bX; + U;. i = I , 2 ..... 29 ~ ~ 
"tf@Cfl ~ ... ISI.>f£401 ~ 1'5~ en) SOi 1'1d ~' H~ f~tR9C1 
3iiCfl~ ~Cflbid ~ ~ ~ : 

I, x 'f = 100. L x; Y,' = 72. LX; = 2610, 

LY; = 1740 

~X~ afR y: f4'i1cl'1 ~X. altt Y. ~ arcR-~ 
l 1 ' l 

9 ktG~f +tTh"lrT X afR Y ~ I a~ b CfiT ~t1d¥i em 
at I Cfl &I CfliT ~ ? 

• 
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(d) The following table gives the number of 
aircraft accidents that occurs during the 
various days of the week. Find whether the 
accidents are uniformly distributed over the 
week. 

Days Sun Mon The Wed Thurs Fri Sat 
-. 

No. of 
accidems 14 16 8 12 ll 9 14 

(Given : the values of chi-square significant at 
5, 6. 7 d.f. are respectively 11·07, 12·59, 14·07 
at 5% level of significance). 

2. Explain the difference between the product moment 
correlation coefficient and rank correlation coeffi­
cient. 

The ran kings of ten students il_l two subjects A and B 
are as follows : 

A 3 5 8 4 7 10 2 1 6 9 

B 6 4 9 8 1 2 3 10 5 7 
. 

Find the correlation coefficient and comment on 
the result. 60 
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(t.r) MJO;lf(OtMd et<on ~.eat~~ fcml?r ~ ~ ~,<,., 
~ c:u toft ~ ~ ~ t'it stfz., •aff ctrr e €i<•o ~ trf t- 1 

"' I 1. +1 *' M (( fit; CfQT stfzii It{ e a I~ \R C(Chft +11 '1 

~ '« Pc.af{a ~ a:tll4CCI ~ ~: 

ft1f ~~~~~ ~ l1'R'l ~ ~~~ffl ~ ~Wf 

!Ge.,eaif , 

~ "~· 14 16 8 · 12 II 9 14 

(<rn: 5, 6, 7 d.f. ~ ~ Cf1f ftFtfCfi * lf'A", 

tt14Cfiai ~ 5% «R tR, Sllli:itT: 11·07, 12·59 ~ 
14·07 ~) 

2. 4J01'1 att"{uf e~eiia ~o1iCfl atR q;1R: e~eiia ~otiq; ~ 
Gft:q ~ q;t fCf tS2 <A N1 (( r 
cit fctqq). 'q;' ~ '«' ~ ~ utl!!f) ~ ~fci•t HJO;tMNa 
3t9jftl< t' : 

• 

'(f)' 3 5 8 4 7 10 2 1 
( 

''(.Cf, 6 4 9 8 1 2 3 10 

e ~e esc a ~u 1i cti "'' 1.'4 c:fl N1 (( am q f~un" 
R<lion <AN!tt 1 
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3. A sn1all firm makes three similar products, which 
all follow the same three-step process, consisting of 
milling~ inspection and drilling. Product A requires 
12 minutes of milling, 5 minutes for inspection, 
and l 0 minutes of drilling per unit; product 
B requires 10 minutes of milling. 4 minutes for 
inspection. and 8 minutes of drilling per unit; 
product C requires 8 minutes of milling, 4 minutes 
for inspection, and 16 minutes of drilling. The 
department has 20 hours available during the next 
period for milling, 15 hours for jnspection, and 24 
hours for drilling. Product A contributes Rs. 2·40 
per unit to profit, product B contributes Rs. 2·50 per 
unit, and product C contributes Rs. 3·00 per unit. 
Determine the optimal mix of products in terms of 
maximizing contribution to profits for the period. 

60 

4. Discuss in detail the different supply chain 
strategies. What is an appropriate supply chain 
design for a competitive environment ? 60 

Section 'B,. 

S. A. B. Motors (ABM) is one of the oldest multi­
national corporations in the world. Founded in 
1910, ABM established its first international 
operation in the 1920s. Historically, most of the 
ABM's foreign operations have been concentrated 
in Western Europe. 
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3. ~ 'fili) 1:fl+f cfT;:r ft+tl'1 -d(qiG tit'11al ~' M'1ll. q~o1, 
HU&iUJ ~~ctr~tftcft;:r-CflG+f yfst,ql CfiT31'j!i(O( 

fchql \ifldl ~ t \3(qiG 'Cf)' ~ ~ ~ ~Cfil{ q~OI ~ 

12 M'1c1., M~ ~ 5 M'1il. 3tR ~ ~ 10 M'1z1· cfiT 
~ltCfldl mm- ~ I \3c<i IG \q-' ~ ~ ~ ~Cfll{ q~o1 ~ 
10 flirt2.1·, Pt<l&1at ~ 4 fl:trtiY 3tR ~ ~ s Mrt2:1" cfiT 
~qCfld I mm- ~ I \3c<i IG 'll' ~ ~ ~ ~Cfll{ q ~01 ~ 
8 Mrtil'' frt()&"fUf ~ 4 Mrt2.l. ath': ~ ~ 16 M'12:l cfiT 
~qCfidl mm-~ I ~~'Cffif 3t~tJl31Cffu.q, q(SJO( ~ 

~ 20 ~' frt()~ol ~ ~ 15 ~ afu: "art ~ ~ 
~ ~ ' , ~.x-A.~ 24 ttVG \3q{1o9' 'Q I \3(\iiG Cf) '"J~ l"fl +1 ~ 1('1 ~Cfll~~. 2·40, 

. 'd(qiG ''€f' ~ ll ~ ~ ~. 2·50 afR \3cqfG 'lf' 

~ ll ~ ~Cfil{ ~. 3·00 CfiT 4'l~IGI'1 Cfl(d I ~ I 3t41i"11 

atctfu $" G1<1-=t '3)-=t 1\fll. ~ ql41GI-=t CfiT ~ Cfi(~ ~ ~ 
\3 (q I <i)' ~ '4tSGd +t M S5t o I CfiT Fruf<uT chl Nt t( I 60 

4. ~ trfcf ~tCf{:fl <otrflRPif tR fc.ffit< ~ ~ chlMt( I 
Y Rr fq a f '"' Cfi q f<Cl ~r ~ ~ \3q ~ffi trfcf 1 €H11 f6 it I ~'1 c.m­
mm? 6o 

5. ~· if. ii1 c:J ( t(<il ~+t ) ("\ ft F< ~ tt Cit a ~ est §<I~') q 

Pt~ • .n· ~ ~ ~ ~ I 1910 il ~~ INd' Q\titt~"' ~ 31qrff 9~+t 
~a<fts4'q y:q 1('1'1 1920 ~ ~TCfi il f!?t rftta fchlu ~ 1 

~Rt~tmCfl ~ ~ 0\csOQ:"' ~ arfucf;T~r ~rr y:q 1('1'1 

tffi'-:q;ft ~ il <fi ~d ~ ~ I 
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Although ABM has had a long presence in Latin 
America and Asia, until recently, sales there 
acco-unted for only a small fraction of the 
company's total international business. Acknow­
ledging the fact that Asia, Latin America and 

Eastern Europe will be the automobile industry's 
growth markets. ABM decided to have a new look 

at its international business strategy in 2009. 
Traditionally, ABM would consider the developing 

world as a dumping ground for its olc:L outdated and 
obsolete technology. The production would be 
decentralized. North American and West European 
factories would produce the latest, state of the art 

vehicles while the plants in developing countries 

would produce old and discarded models. The 
operations would not be centrally controlled from 
its headquarter (HQ) and subsidiaries in different 
countries would produce vehicles as per their 
specific requirements. Thus, there would be two 
sets of ABM vehicles plying in the world at any 
given time - olcL outdated and discarded models in 
developing world and new, state of the art models 
(with multiple variants of each one of them) in 
Western Europe and North America. 

. 
Despite being one of the oldest players tn 
international business, numerous problems can still 
be seen on ABM's horizon. Compared to Toyot~ 
who is fast becoming world's largest automobile 
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.. 

£4 c:J fq Q\cstl tt¥i ~ ~ -6- ('ilffi 4'1 3111 <J Cfll ~ ~m ~ 
~t-, att41N mil~~~~ ~~£4i cf;q4'J ~~ 
ald(~lCI Cfll()~ I< CiiT 4lC4(1 ~ ~21 'WT ~ ~ I ~ 

~ciT ~lCfll<d ~fcf;~m, (11al4131'1()Cflt ~~ 
~ \i£4&1 ~ ¥ilz< '3~•1 ~ e1Q;: ~l'itR ~' Q\~l(t&~ 
;r 2009 ~ (Slq;f) aid<~l~ CflltO~R (Ut;f)fd 'tR rrC( fift 
~ f4:ql< ~ cfiT ffi"i() I q(q<l ~ Q\G()C(+t f4Cfit~~fu;r 

fltfl( cnT ~, \itluf 91cmf414J ~ ~ ~ 'iSfG.•I JlGI~ 

'i tifa l 3fT'IT ~ I 'dN IGrt CfiT f4Ch~lCfl(OI ~ ~ \iil(!\411 I 

'3ft() 3tli<14ll ~ m~ q:_<ttft~ Cfll<@ ''"' 31?Ja.-:t, 

~east <:41~4)· Cf)T :aNIG~ Cfl<l'l ~~fch MCfile~ft<or ~rr ~ 
eq~ TR ~ ('qffi 111:sffi" cit ~'1tc0 1 9"'41(1~· ctlT 

¥l~ ,(1~ -e- C1h~1~ ~ ~ p,q.,.a, ~ ~ ~ f4 M?t ~rr 
.q ~ cf;q Pttt i ZFr ~rr ctiT 31q~1 Fm~ ~lfCfia tarr ~ 
311~1< <:41~~ Hlifot <fl{•n I m YCfll( fchm m ti'it( 

eet< ~ Q\Jlctst q~~~- ~err~~ w ~- TR * 
(itffi 'it:S(¥1 f4Cflte~fh;f e~t( ~aiR rt"C(, ~ Jii:S(¥1 ('3'1~· 

' 
~ YcilCfl ~ at~Cfl N?r-fu?r €'qia~) ~f%a) ~~ 
aft"< '3ft (l 31st <(.l Cfll ~ I 

aia<iis;~1~ Cflt<t~R .q e<il~ TR R~(1t~4f ~ ~ ~ ~ 
~ ~IC4"l.G, ((<il(t11 ~ 3t~Chl. t4Jifl41~ ~ ~ ~Cflffi ~ I 
illllzt ~ ¥jCfliCSfcl ~' m ~ ~ l{)(!( q ·~..n· Cf)T ee I( Cf)T 

e~~ csm Pt11fat ~~dt ~ ~ t-, C!\;ftlJ!i ~ (1Htd'f, 

Pt4041 e'lm ~ ~ 4Jatat (m1qCfl< f4Cflte~mr ~rr .q) 
afh:: li i -s'f ~ ~§a I tl a ~ U'f(f ~ I il zi\20 I aft< ~ \it I q I ;f) 
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manufacturer, ABM suffers from high costs. low 
perceived quality · (especially in developing 
countries) and a profusion of brands. Toyota and 
other Japanese vehicle manufacturers are fast 
spreading their wings with lo\v-cost and high fuel 
economy vehicles in developing world. 

There is one group in ABM \vho strongly feels that 
the time has come for ABM to change its strategy 
and to produce "global cars" while the other group 

feels that ABM should produce country-specific 
models to attract local customers. 

Answer any three of the following questions : 

20x3=60 

(a) How would you characterize the international 

strategy pursued by ABM in the (i) developing 
\vorld and (ii) Europe prior to 2009? 

(b) What would be your advice to ABM regarding 

~e international strategy it is planning ? 

(c) How should ABM compete with Japanese car 
manufacturers globally ? 

(d) What should ABM do (i) produce global cars 
or (ii) produce local country-specific models ? 
Justify your answer. 

, 
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~~~~ H¥1fdl 31q4l H¥041 (11•td aiR~~ at=qa c:u~.n· 
~ ~, Mc:tllfFtfu.r ~rr ~~iT~ tRci tli(1td ~ ~ 

~I 

~~¥1 ~ ~ f('i_~ ~ mcrm « ¥1E?~e Cfl(dl t- fif;­
t:tcsft Q!t ~ ~ 3t q;f) (01 '1l Rt CS1 C:(14 q;r f( +t l4 3IT lTliT t 
am: \3ftqll '~"C(ql Cfll~., CfiT '3(qiC:~ CflV11 oql~\{ ~C!ffCtl 

~ cte<• e~~ ~'1;:ca 1 ~ Pctl ~csil~+~ ctrr ~ 1'11tt ill~cti1. c:tlT 
3t1Cfiftfd ~ * ~' ~T-Fmll! +tis~· CfiT H'ifot cf)(~l 
:q I~C{ I 

31Gr H;41 ~ ma ~ iT Fct;~ cfT;r -sn-.fr q;y '3u < cit Ni~ : 
20x3=60 

(q;) ttcsft~ ~ 2009 iT~ (i) f4q;le~fn;r tiel< ~ 
(ii) ~ ~ 3tijfl(OI cfiT m m atd(~llt (OI;i)kt 

CfiT F. ?I 01 arrq -~ g Cfll( q;{fl ? 

( tS) ~<S()~ ~ aj d(~llt (Oirtl fd cfiT lfl Girt I CiFrr ~ t" 
:ae4; ~ ~ ~csfl~+t <ill at rqchl ~ ff~ It? ~ ? 

( tr) ~csfl~+t CJll \iii q 14't CfiR H'i fa I an ~ ~ ~qq; 
~ ~ ~ gq;l( 9ktt"'tt:Jf q;(;f) .;:ci~C{ ? 

~ 

( ~) t:(GCl~¥1 q;) ~ c:tl<~ I =«:41 ffit:t (i) ~ Cfl I~· CfiT 

'3NIC:91 Cfl<911 ~ (ii) (":?O<II;:()l4 ~r-rc.nre- '"lis~ CfiT 

'3N 1~91 Cfi(~ I ? 3'fCA- '3"d< ~ ~ ~ ~ tnT 

4l)Nitt 1 

C-DTN-J-NHB 11 (Contd.) 

evid
ya

rth
i.in

Educational Material Downloaded from http://www.evidyarthi.in/ 
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



6. Governments can influe~ finns' decisions to 
invest in foreign countries. By their choice of 
policies, both host country and home-country 
governments encourage and restrict Foreign Direct 
Invesnnent (FDI). An important determinant of 
government policy to\vard FDI is political ideology. 
Political ideology ranges from a radical stance that 
is hostile to FDI to a noninterventionist, free market 
stance - between the two extremes is art approach 
best described as pragmatic nationalism. Explain 
how the po1itical ideology of a host government 
might influence the negotiations between the host 
government and a foreign multinational enterprise 
(MNE). Under what circumstances is an MNE in a 
powerful negotiating position vis-a-vis a host 
government ? What costs does a developing host 
country pay for FDI ? 60 

7. Tata Motors was' planning to set up a factory to 
manufacture 'the world's cheapest car' in Singur, 
West Bengal. However, due to the steep resistance 
of local people they had to shift the plant location 
to Gujarat. 

, Explain how each of the following resources within 
the company might influence its overall strategy. 
(any three) : 20x3=60 

(a) Plant location 

(b) Company image 

(c) Financial resources 

(d) Human Resource Planning 
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. 
6. ~<CflR ~rr ~ PtCl~r cti<~ ~ ~ ~ f;tofl(l q,l !l\i 1fcca 

cg ftCfial ~ I rfl ffilll eft atq;f'l qeG ~ 'RI, i4'itGC 1'1 ~T 

~ ~ ~r ~ m- Fct4~tr Sf('q~ P14~r <~.m.arrt> ~ 
Yltttlf%d 'ffmf'ia cg~q,a ~I ~~~e<ct;t(t 
~1Rt q;r ~ 'i~cct'iuf ~ <l'i14tRtcti ~ ~ 
~I (1\ii~lffiq; f4:qi(tJI(I cnT q(le ~~~it, m ~ 
~~ Ykt}~<"t ~ ~' ~ ~-~, ~ ifl'itl( 
~'~~~I~ Gl~l· ffi"{t ~ aif-q ~ \3qi41Ji ~ 
mar~, MftCfll e~il 31~ ettl &fiCI~If:(Cfl <11!41~ c4rr~ 
\itlal ~ I ft&f~ I~C( fcf; ft'il~ 1'1 ft(Cfil( ~ fct:q RS l<f, 

tt'it~ 1'1 ~<Cfll< am- fctlm cst§<•~1lf a?.J&f ~ Gft:q Cf 1afarr 
q;)~9Cfll(~~~ft<tial ~I ~qf<@o1fd4f~ 
~s<rtsiltt \3<:1¥1 il'itcst 1'1 e<ctil< ~ tm:r ~lfffi~nm Cf ,cr,Cfit<l 
wmr~~~? f4Cflle~~~'ri<ifl"1 ~r~~~ 
~ ch)+ta *J)Cfildl ~ ? 60 

7. 21201 'ilz~ ~ csi~1 t(Ot, ~~ ~ '~e I< ctr ecstit etd'l 
CflR' CflT A 'i fu I c:ti(~ <:fiT itct?l <'1" II~ ~ til \i1 ~ I GfilT W 
tlT I q-q~14'1lf <'tl•i'f~~gfd{la-~Cflf(OI, '3'1Cfil ~tf'!4 

314 Wol Rt ctlT !J'it <I d ~ M F'l i d f<d Cfi('11 tm" I 

t462 4lH~ct ~ cfiq;:fl ~~a< HJ;iffiRcta ~ ~ ~ 
Y~Cfi, cfiq;:fl cfttt&t!J (UI;f)kt CfiT fct;e 9Cfll<'6-~ctK 
e Cfid 1 t I ( CflT{ C1i 111) : 20x3=60 
(Cf1) ~ri~ 31ccW:lfd 

(t§f) cf;q4) ~ 

(lf) f4ffi4 eeta"1 
('Ef) 'i 1~4 ~ tll\ii~ ICfl(UI 
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8. Air India, the national carrier, has recently 
approached the government to bail it out by 
sanctioning an amount of Rs. 15,000 crores. 
Ministry of Civil Aviation has appointed you as the 
Chairman and Managing Director of Air India. You 
need to submit a detailed plan of revival for Air 
India in next three years. Your strategic consultant 
telJs you ·that you may:t csider any of the four 
planning mo~ls (namely, ategic Bu~iness Unit, 
The Boston Consulting G up Matrix, The General 
Electric Business Screen and Porter's Generic 
Strategies Model). 

(a) Describe the four strategic planning models 
briefly. 

(b) Which of these four strategic planning models 
would you find most useful for Air India and 
why~ 

(c) Based on the model selected, outline a brief 
plan for revival of Air India. 30+15+15-60 

' 
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8. {l~tq Cfi~Cfl, ~ ~~41, ~ ~ ~ tt{CfiR if Q". 15.000 

Cfl<l'$ ~ ~T eft ~ ~ '3ttc:tll ljtfl~d if ~I~{ 
MCfllcl~ CfiT ~ fctl4t ?.1T I ~ 141( f4"1t~~ +i?l 1(14 ~ 
3ttqq,1 ~ ~~ctt q;r ~ ~ 9<itu ~T"Cfl H'iffi ~ 

~~ 1 ~cftrret~·~~~rn"' ~'l~~\Ntlct~ ~~ 
3tlqq;1 ~ f4~d 41\if~l ~T <:f;{~"l ~ I 31 fq(t {UI;ftfdq; 

ti{"fi~Cfll( ~ 311qchl C$4(1141 ~ fcfl 3frtr ~ ql'it"fiCfl{UI 

"11-S<ff (~ {014) fdq; Cflt<lcstR q<:flq;, csilRO~ {1{'11~Cfll<l 
t1¥t.~ attd{~, \ii~{{"f "!i~~Cfl Cfll<l~R ~~ ~<ill< CflT 

'i1'1Cfl {Utrfl R1 "'I:Scl) ~if fctltil ~ tR f4:q I{ Cfl{ ttCfld t I 

(q:;) :qrU {0141 Rtcti ~l\11~ ICfl{OI "11'5<-fi Cf)T ti~q ~ qUfYi 

ch\Mq I 

(zcr) ~ =ctT{ (OIRlfdCfi ~\if'11Cfl(UI Jf Fs("l) .q ~ ~ ¥i 1'5(1 

CliT ~ {~lfl ~ ~ 3fr:r eit~ ~1~1 '3qlf1•n qffi 

~~~? 

(;r) :qqPia "'ls(1 ~ am:TR tR, ~ ~rnqt ~ 

'j)'1~~lC4'1 ~ ~ ~ ~ tO\if~l ~ €'q{€fl 

~ql{ chlMq I 30+15+15=60 
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I C-DTN-J-NHB I 

I t/J/4 : fitrt f?l1Z I 1 'io'r'h : 300 1 

3i'j'4:~T 

9 f44l Jnrr ~ 3ik- 3jij \i{) cil ;ff if "i§CTT ~ 1 

!nrif ~ drl< ~ ~"l:f1[ if ~ ~ oql~q 
Mtt4ll \3~<.4 311q~ fflr-q?f if fCh41 1fZTT ~, 

3lh" w 11TE:7P1 q;r ~ \3~(4 '3 'd<-~ RfCf) ~ 

lj(?f- tp; tR" 3i fCha A U'e (4Q I rt 'R: fCh41 \J1 I rt I 

"iil~q 1 fflr-rr=r fK dfR:lf@a 1fn:7;pf ~ 3/ktRffi 
3Ff Rhe? zrn:.7flf if ~ mr drl< fK cit( afq; 

~ f¥tJ.it 1 

!n"if ft€41 1 3ik 5 3fH41zf ~I <SflcfJ Jnrif if " 
9<"4Cil ~ « Cfi1T- «-cp:r f?C" ~-;r ~rtCil< fChi$T 

cft-;r Jnrit ~ \3tt< ~1M~ 1 

ff'iT Jnrit ~ 3icf; t1 J/1""1 ~ I 

m- ~'lfcfi" fit ciT ;aq~Cffi 31Tc:n:if q;r "q4rt 

cfJA q w:rr \3rtct>) Ptfiftsc cCI fJt q .1 

, 

Note : English version of the lnstntctions is printed on 
the front cover of tltis question paper. 
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